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LISTENING WORKSHEET

l. Listen, number and match.

a. Maddie() b.Donna() <c.Sandra() d.Henry() e.Joseph()

Il. Listen again and write T or F.

1. Maddie Has curly hair.
2. Henry is short
3. Sandrais tall.

4. Donna has blonde hair.
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5. Joseph has long brown hair.

lll. Listen again and choose the correct alternative.

1. has dark brown hair..
a. Henry b. Kevin c. Joseph
2. Josephis than Maddie..
a. shorter  b.taller  c.younger
3. Donna is Maddie.
a. shorterthan b. shorter c:taller than
4. has long brown hair.

a. Donna b. Henry c. Sandra
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